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UNIVERSITY OF NORTH BENGAL
B.Sc./B.Com./BBA/BCA/BBA(TAH)/B.Voc./BSW 1st Semester Examination, 2023

ENVIRONMENTAL STUDIES

AECC-1
Time Allotted: 2 Hours 30 Minutes Full Marks: 80

The figures in the margin indicate full marks.

( Instruction ]

The candidate should indicate the correct Roll Number, Registration No., Course, Question Booklet Series,
Question Booklet SET on the OMR Answer-Sheet otherwise the Answer-Sheet will not be evaluated and the
candidate will be solely responsible for it.

Each question has four alternative answers. The candidate has to darken only one circle/bubble on the Answer-
Sheet using black/blue ballpoint pen indicating the correct answer as shown below. If more than one answer /
option is found darkened, then the question will be treated wrong and will not be evaluated.

Example: Correct Method: O@ O O Wrong Method: % J®©

Answer all questions 1x80 =80

T U8l P TR SfoIY
TR 2tAE Ted wis
T THEHHT IR ACTEN]

I. Which of these are essential non-metallic minerals?
(A) Coal, Silica, Clay, Cement (B) Iron, Copper, Aluminium, Zinc
(C) Gold, Platinum, Silver (D) Granite, Limestone, Marble
frrferRad & A B a9 IR gifcad G@fer & —

(A) PRI, yeer (Rifera), g, e (B) e, e, Teg i, ST
(C) AT, wetfe, Tiey (D) IFTSE, AT UeoR, TR
R efRE S ein SRz oHge 4e 7
(A) e, Filersl, S, Fers (B) (5111, OI, Syieffaiferi, vl
(C) G1ieTl, &for, ol (D) &IZG, Rt=fie, icdeT
(A) DT, IR, ATe, e (B) T, T, T, ST
(C) g, wernfefay, =it (D) IFTSE, AT UeoR, TR
2. In which of these following can we find Brackish Water Ecosystem?
(A) Wetland (B) Streams (C) Deltas (D) Coastal Shallows
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fr=forRad & F fob &5 WRTSTer IR = e 8lar & 2

(A) A (B) ydrE (C) Seer (D) TR 3T
A (P00 SR (NG AEOF (AACS 201 9
(A) TETefy (B) &2 (C) 3-71%f (D) RS- S263
fFTeTRET o1 IRT (Ffreth) STt TR Rerforeh! o T~
(A) 3T (B) w8 (C) (D) TR 1
3. Renewable source of energy is
(A) Coal (B) Petroleum (C) Plants (D) Uranium
ST T STeTT AT AT & 2
(A) DT (B) UgHferr (C) drer (D) X
TP =g T 1 9
(A) FT (B) cocaiferas (C) aMoifi (D) TSN
A TehT 3T&RT AT & &1 2
(A) Preert (B) eerm (C) 3P (D) ZRFr
4. Full form of CNG is
(A) Common National Gas (B) Compressed Natural Gas
(C) Common Natural Gas (D) Certified Natural Gas
3. T, Sft o1 quivey ferRay —
(A) AHRI NI (B) GUIRST UTpfcies 19 (C) I UTepfcrep 19 (D) FHTION SiTepfcrep 1Y
.99,z s 7ol 5 9
(A) R TSR 271 (B) WFb© 2IFHos o
(C) el eFFo oIyt (D) &G &AFfe aifi>1
7.0 K. 1 T Y oeB g
(A) FHET ST =T (B) oS vrepferes =Ry
(C) M= YTepfcies =T (D) YHTIOIe STepfcie =Ry
5. How many total numbers of biodiversity hotspots are there in India?
(A)8 (B)4 ©5 D)7
R § 51 e &levdic Bl et T fbamii & 2
(A)8 (B)4 ©5 D)7
IR0 (NG M A0 25 16 Seea AR 2
(A)8 (B) 4 ©)5 (D)7
IR e fAfIEeTTehT STl ol AT Bl B ?
(A)8 (B) 4 ©)5 D)7
6. Which of the following problems is not created by noise pollution?
(A) Diarrhoea (B) Hypertension (C) Deafness (D) Irritation
frraferRae o & i Y TR eaf= FEHUT & PIRT I & Bt
(A) S (B) I=9 Thd (C) &RIUT (D) e
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TR I T >Rl TR 38 2 1 9

(A) ORI (B) SHIEHI! (C) ezt (D) gl
TR eTerTfe Earfe SuUTeT RN FHRRAT I~ garl

(A) TG (B) ST IhaTg (C) IR (D) frsfersmaT
Which of these are also known as Detrivores?

(A) Decomposers (B) Carnivores (C) Herbivores (D) None of these
ST A BN AT STIRETERY AT F Y ST 91T & —

(A) ST 3TEeH (B) HiATERY (C) TTehTERY (D) T A DI &I
T 1= cefbreiam i #ifdfbe 9

(A) #5TE T/COI&  (B) SRR (C) SeTe& (D) 02 7
ferTere PeTafe STIRETERT (fAmTerehRY) ol wuHT ff e

(A) ST ECH (B) ARITERY (C) 2MHTERY (D) P Uiy 81T
Maximum amount of gas found in air is

(A) Oxygen (B) Carbon dioxide  (C) Hydrogen (D) Nitrogen
g A JAfRrpTTH HHAT H YT ST aTel 19

(A) 3T (B) 1o ST 3Ta8S  (C) B3N (D) AT
ST (@ A1 IR wHfariel “Ahet AR o 2

(A) SIS (B) F-TIZ-THZT  (C) F@ICE (D) iZCGice=
ITIHT SATRBHTAHT T T &,

(A) 3PS (B) PrEA-S3-31rdss  (C) BISIoH (D) TSI
Sustainable development goals have specific targets to be achieved by

(A) 2022 (B) 2030 (C) 2040 (D) 2050
et T Ieea T UTH - o fafRTe oty AT TR & —

(A) 2022 (B) 2030 (C) 2040 (D) 2050
RACRIGACER G IR IR G A 06 R b | PR e S| B4

(A) 2022 (B) 2030 (C) 2040 (D) 2050
fereemt faeprerent srTftient <t1f fafere ore AnfweT g7

(A) 2022 (B) 2030 (C) 2040 (D) 2050

Full form of IPM is

(A) Industrial Pest Management (B) Inorganic Pest Management

(C) Intermediate Pest Management (D) Integrated Pest Management

3178, Ol T T QU U TS ?

(A) 3ienfie fied ey (B) M@ fied Uay (C) Aegdd diea Uee (D) Hafed fied mey
IPM-93 7 %l & 9

(A) Industrial Pest Management (B) Inorganic Pest Management
(C) Intermediate Pest Management (D) Integrated Pest Management
3T o Ulo THo T qUT ST & &
(A) 3ifenfie ded vare (B) 3ThIEI e UTSh Ha=er
(C) Tegert YIS ya=er (D) FEfed died uavy
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12.

13.

14.
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Chernobyl accident occured on

(A) April 26, 1986

(C) December 1, 1938
e qeeT AR g8 —

(A) 313 26, 1986 (B) ST 25, 1984
(Ceicaet TGl qCorR
(A) 26 «fere, 1986
RS GHEHT Bl &,

(A) 26 3TVt 1986

(B) 25 G, 1984

(B) 25 T 1984

(B) June 25, 1984
(D) November 16, 1986
(C) e 01, 1938 (D) TSR 16, 1986

(C) 1 I, f&93, 1938 (D) 16 2 o4, 1986

In case of a parasitic food chain, the shape of the pyramid of number is always

(A) Upright (B) Linear

Ueh IR 1T @Ter $RIeT 7 fURTIAS &1 S1pier Sferpas S aldl & —

(A) Hrer (B) &I

@ ~RIGIR AP (G, @3 SNFT IR RIS 311 7153 27

(A) TSl (B) il

(A) =T (B) &R

(C) 1 =R 1938 (D) 16 AR 1986
(C) Inverted (D) Not Certain
(C) Seet (D) ff3e 18t

(C) TBicl (D) fafs® o

(C) et (D) P &

Which of the following is one of the best solutions to get rid of non-biodigradable water is?

(A) Recycling waste

(B) Burying waste

(C) Burning waste (D) All of these

IR IRNTSISIT o &l THRT H 9 BT FaH SURI 75 I 7T S ?

(A) STUIRTE T Y7: Ffehal BRAT
(C) 3rafers Y ST

(B) 3URIE BT SHATT
(D) gt

SREISHCI (F9-ARNGarweT) 67 (@ “ifFqld coite e @im smafol R w9

(A) ISR (B) 37 “te el

(C) IS Coeical (D) FRef

RIS Qe BT HARIEIE FleT Fa T ST P B

(A) JARIE &g ur: S Reerd 7T
(C) 3TN WIEeATS SefTSg
Pick up the correct food chain

(A) grass — chameleon — insect — bird

(C) phytoplankton — zooplankton — fish
e AT g —

(A) g R dreT—> Yyl

(C) UISY Wadh—> STt dFeT TS

AT LM RS T
(A) T BRET — FI— A

(C) FIRBIANES— T 2TFoT— g

(B) 3{UfIE Wreellg TS
(D) g7

(B) grass — fox — rabbit — bird

(D) fallen leaves — bacteria — insect larvae

(B) TRI>AS >R Teft
(D) R gT TSI aIe oiraf

(B) - MRET— LR A
(D) #f® 7ol [IFERAI—> NI el
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T JSTATATS 5P FHoHT TS TB I,
(A) BNT— BURI—> fdRT— TRT (B) ERT—> HTeT—> TRIAT—TRT
(C) UTeY leeb— J Teiche—> HTST (D) SN UTTED—> STFCINAT —>ATHTIART
What percent of area in the plain should be underforest?
(A)21% (B) 25% (©) 17% (D) 33%
ST AT H e HTCTere StTeh SiTet o STCRTd 81 TRy 2
(A) 21% (B) 25% (©) 17% (D) 33%
IO T *OK 1] q1esT AP TS 9
(A)21% (B) 25% (©) 17% (D) 33%
FHCTCTeT el TfTL & I JTciid USs
(A)21% (B) 25% (©) 17% (D) 33%
Which one of the following pairs is correctly matched?
(A) Biosphere — Eduard Suess (B) Ecosystem — A.P. de Candolle
(C) Ecology — A.G. Tansley (D) Biodiversity — Reiter
ferforRad & & i AT SheT Tt & —
(A) Biosphere — Eduard Suess (B) Ecosystem — A.P. de Candolle
(C) Ecology — A.G. Tansley (D) Biodiversity — Reiter
o3 @ (&It F TSI TS 9
(A) Biosphere — Eduard Suess (B) Ecosystem — A.P. de Candolle
(C) Ecology — A.G. Tansley (D) Biodiversity — Reiter
f=THed) prrafe Jel Siiel &
(A) Biosphere — Eduard Suess (B) Ecosystem — A.P. de Candolle
(C) Ecology — A.G. Tansley (D) Biodiversity — Reiter
Upper part of sea / aquatic ecosystem contains
(A) plankton (B) nekton
(C) plankton and nekton (D) benthos
SR G eTs / STeiy aiRRkfere o § Fifed & —
(A) Tide (B) Ade (C) WipeT iR AdeT (D) =
I / CETS AEOCE SRR SR AR
(A) 2L (B) (5= (C) BFo R (0 (D) @A
AT AT HfIee! 9T/ Selid wRfRfied a=mT gew
(A) Tide (B) Ade (C) WipeT a1 sae (D) s~
The Environment Protection Act was enacted in which of the following years?
(A) 1980 (B) 1986 (C) 2001 (D) 2010
QTR UT GRETUT &+ febet o Srfrier febar i —
(A) 1980 (B) 1986 (C) 2001 (D) 2010
AR 97 @2 (Environment Protection Act) (e I23 2/ah® 27 ¢
(A) Sdbo (B) 3 v (C)Ro05 (D) x0%0
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RATEROT EREIUT SR e ferforRad afmTetry TRweT forg

(A) 1980 (B) 1986 (C) 2001 (D) 2010
19.  Which one of the following is an example of in-situ conservation of biodiversity?
(A) Captive Breeding (B) Seed Bank (C) National Park (D) Pollen Bank
fereforRa & & B AT Sg-fAferdT & T TRET (In-situ conservation) T Uds SSTEXUN § —
SNESENEIE (B) 91 §& (C) ISCrT ST (D) RITdH
e I(G G17 (Aiotara 24-F1F (in-situ) TR Swiggel 9
(A) 30 &ITTee (B) I kT (C) G Sy (D) = RS
fereTforRReeT Hed prranfe Sta-fafedmet (in-situ conservation) S&TERUI §1
(A) T IS (B) 151 & (C) IfSeT e (D) WRITdH
20. Cultural environment refers to
(A) Mountains (B) Man-made environment
(C) Wild environment (D) Marine environment
P cTep TR bl e & —
(A) UBTS (B) AMa-AATuRaer  (C) Sirelt ararexor (D) T giRaer
ARFIST (= FWT0e @RI —
(A) *RexrE (B) Tq-3 A (C) I ~Afea! (D) A ~Afdca=
AR fcrep TRE bl T &
(A) yda (B) Aa MA@ uRasr  (C) Sttt ararexor (D) T giRaer
21.  The flow of energy in the ecosystem is
(A) Multidirectional  (B) Bidirectional (C) Cyclic (D) Unidirectional
UTRRIfCTRT o 5 ST bl s & —
(A) ggfaar (B) faffern (C) Tshig (D) e
e *fed @72 25
(A) 3T (B) fag (C) b (D) @53
qIRRAfCTDT T=HT IStTehT aTe &7
(A) Fgfaer (B) fafer (C) TshiT (D) fEemé=
22. The acceptable pH level of potable or drinking water is
(A)9.5-10.5 (B)6.5-8.5 (C)7.5-95 (D)55-175
U STt T e pH o & —
(A)9.5-10.5 (B) 6.5-8.5 (C)7.5-95 (D)55-175
AN SR QAT pH Gl 2
(A) 5.€-50.¢ (B) v.¢-b . (C)a.e-5.¢ (D) €.¢-4.¢
U STeTel pH &R §76
(A)9.5-10.5 (B)6.5-8.5 (C)7.5-95 (D)55-175
23. The atmospheric layer from the surface of earth up to 18 km is known as
(A) Troposphere (B) Stratosphere (C) Mesosphere (D) Ionosphere
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25.

26.
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Al T AAE I 18 km IR ARSI IR by A & STHT ST & —

(A) TURHRR (B) TChRR (C) TARHRR
-7 (AT 18 B +1fe argwedin w7 F wiw «iffos ¢
(A) GeeliFraa (B) B (C) AR
gedepT FgaTe 18 km HTRIDT aRIHATSH Y TReATs P e e
(A) SRR (B) TR (C) R’
Through which layer of thermosphere jet planes fly?
(A) Troposphere (B) Stratosphere (C) Ionosphere
IRTARIR b fohsT R & TR ¥ Wi fad T ST & —
(A) TURHRR (B) TChRR (C) IRARDRR
QAT e B9 M0 (6 (214 ST 9
(A) TPl (B) B (C) ST
HTERIRET o1 YRCTDT HTETH S [HD! IS &6
(A) TURHIR (B) TR (C) SRR
Amoebiasis is caused by
(A) Protozoa (B) Helminths (Worms)
(C) Bacteria (D) None of them
ST BIFT T w18 & —
(A) HheTTaT (B) P (C) Sftary
SRR =Rl 98 27
(A) CRICBITS (B) =T (FW) (C) TR
ST EATET BRI &T;
INEIEEIE (B) for (C) Sfray
What is the end product of nitrification?
(A)NO, (B) NH4—N (C)NOs
ATSE IR BT TR IS AT & 2
(A)NO, (B) NH4—N (C)NO;
TR Amfen wiew swmidfs & o
(A)NO, (B) NH4—N (C)NO;
TSI thepaT T JTf~ IcUTS B & 2
(A)NO, (B) NHs—N (C) NO;
What are the components of ‘SIAL’ layer?
(A) St and Al (B) S and Al (C) I, and Al
‘SIAL’ 4Rl & 37aId FIT-FAT 8 ?
(A) Si 3R Al (B) S 3R Al (C) L3R Al
‘SIAL’ B(FF Soimwa el FH 9
(A) Si and Al (B) S and Al (C) I, and Al

7

(D) IR
(D) SRR
(D) AR
(D) Mesosphere
(D) TAHRR
(D) GIAITFAR

(D) HARHIR

(D) $F9 A IS el
(D) G0 (P02 7
(D) P AR aIET
(D) None of them
(D) $F9 A IS el
(D) &3

(D) FrufT e
(D) None of them
(D) $F5 A IS el

(D) @2
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‘SIAL’ URcTehT 3fadd & b g

(A) SiT Al (B) ST Al (C) LY Al (D) R 971 815
The yellowness of the Taj Mahal is an effect of —

(A) Acid Rain (B) Allergens (C) Ozone depletion (D) None of these
TSTEet H Uletu & T9Te &1 BRI & —

(A) 3FeT ot (B) wersif (fergwan)  (C) ST Rebtepwur (D) 74 9 b1 el
SETNR(ET ZNON &[] (FIF Tl 9

(A) SritTe 32 (B) SIS (C) ST&e =3 (D) @02
T Ygeli-ieh] THTIhT PRI &,

(A) 37T s (B) TeTsiies (C) 3N Rercia=or (D) o1 Bl

The uses of CFCs are

(A) Insulators (B) Aerosol propellants

(C) Refrigerants (D) All of these

CFC T IUIIT 8l & —

(A) AuH (B) TR WUNG®w  (C) wefiaw (D) 399 & Y
CFC-¢9 JRaefe 251

(A) TS (B) SHICARTET @ITAETIG (C) RRPeErs (D) R
CFCs-3T W&

(A) FTIARE® (B) Rl sere  (C) MfpRneea (D) AT

The mosquito repellent that is used in the homes in the form of a coil, liquids etc. are

(A) Sedatives (B) Pesticide

(C) Insecticide (D) Fertilizers

HTBR R I aTeTT (fepdep) ST &Rl H SEiHTeT fohaT STl & e, TRel S b HIH I & —

(A) Hefea (B) dicATad

(C) USTTIR (D) IR

TG, SR 297 SFICH TR (& 3| R 207 41 22 ol 2

(A) FTrebes (B) S

(C) AT (D) 7K

HOBR WTSDT AT ERAT SRINT TR ST (coil) TR (liquids) S TaTef &7

(A) THD (B) e
CPCB stands for —

(A) Control Pollution Control Board
(C) Control Pollution Central Board

CPCB @7 372 8T & —

(A) Control Pollution Control Board
(C) Control Pollution Central Board
CPCB &9 It

(A) Control Pollution Control Board
(C) Control Pollution Central Board

(C) for—mTeTH (D) IR

(B) Central Pollution Central Board
(D) Central Pollution Control Board

(B) Central Pollution Central Board
(D) Central Pollution Control Board

(B) Central Pollution Central Board
(D) Central Pollution Control Board
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CPCB H=Tel
(A) Control Pollution Control Board (B) Central Pollution Central Board
(C) Control Pollution Central Board (D) Central Pollution Control Board
Which of the following state in India is called the ‘Tiger State’?
(A) Andhra Pradesh  (B) Madhya Pradesh (C) Assam (D) Gujrat
URT H B GTSYT ‘TIER T PAAT S ?
NGRS (B) 7T U9 (C) 349 (D) oI
(A) SHACT (B) St (C) =7 (D) &A%
YRIPT P ISTATS ‘TIFR ¥ WA 2
(A) 3157 TeeT (B) 7T U< (C) 3ma™ (D) ORI
On which day the world environment day is celebrated?
(A) 5th April (B) 25th May (C) 5th June (D) 25th April
ferer qIfeRuT fear T feeT ST ST & 2
(A) 5 3T (B) 2578 (C) 53 (D) 25 31T
o =ifdc faeer i frwy #ifere =3 2
(A) ¢ @fere (B) &I G (C) €2 T (D) 3¢ % @fes
fere qIfaRT feas g foe g ®
(A) 5 39T (B) 25 78 (C) 59 (D) 25 31T
WWEF stands for —
(A) World Water Forum (B) World Wide Fund For Nature
(C) World Wildlife Fund (D) World War Fund
WWF ol quf &0 T8 ?
(A) World Water Forum (B) World Wide Fund For Nature
(C) World Wildlife Fund (D) World War Fund
WWF @7 555 ot 6 9
(A) World Water Forum (B) World Wide Fund For Nature
(C) World Wildlife Fund (D) World War Fund
WWEF &l 70 %0 &8
(A) World Water Forum (B) World Wide Fund For Nature
(C) World Wildlife Fund (D) World War Fund
Asiatic Lion is found in —
(A) Manas (B) Kaziranga (C) Gir Forest (D) Sunderbans
UfTITS QR el TRIT ST & 2
(A) 79 (B) DTSRI (C) IR a=IRUY (D) Gexa
afRIfbw Frre (rcs Aitea I —
(A) T (B) Sifermel (C) g w=eey (D) 7=
(A) ° (B) TSR (C) IR a=gRUY (D) gra=ad
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36. Earthquake is measured by —

(A) Barometer (B) Cardiograph (C) Seismograph (D) Electrograph

JebU 2T TASTcTT AU T T DTN & —

(A) RIR (B) 1RSI (C) RS ESEERIT

SRR Sigel #fiiel Tl 23 FeR AR 9

(A) IRIEOR (B) ¥ saiw (C) Prcsiare (D) TN

e+ HIO TR T g1

(A) IR (B) 1RSI (C) Rymms (D) SFCHTH
37. Ramsar Convention is related to —

(A) Desert (B) Wetland (C) Agricultural land (D) Forest land

AR P FE eI & —

(A) TR (B) S & ©) Pl (D) T &

AR AT P A FooIfFS 9

(A) gl (B) T (C) Tl (D) wEergf

YHARIR o= G -8 &

(A) oo (B) 3T (C) Py (D) T
38. Rain water harvesting is a major method implemented for —

(A) Water Conservation (B) Soil Conservation

(C) Forest Conservation (D) Ecosystem Conservation

N STeT Feri Ueb S ey it a1t 3 <1 il & —

(A) STeT =& & foTu (B) 9 &R&r o forg

(C) T TR&T & folu (D) yTRRerfrehT &= FRe0r & forw

e et TREAR G0 SO Lol ABIR @ © 2 —

(A) T T (B) Y& szl (C) =6l HF (D) GO T

IuTpT STel YT AT R U JTCATS fafer

(A) STeT TRET (B) ¥ &=emr (C) S =& (D) uTiRRe2rfereht Remor
39. Which of the following is Secondary air pollutant?

(A) CO, (B) CO (©) O3 (D) SO,

g1 & forcfare a1g gy am 8 2

(A) CO, (B) CO (©) O3 (D) SO,

T (1= (e AR 2

(A) CO; (B) CO (©) O3 (D) SO

fefetReet gpererfe ferctar amg gwep &

(A) CO; (B) CO (©) O3 (D) SO
40.  Both power and manure are provided by

(A) Thermal power plant (B) Nuclear plant

(C) Biogas plant (D) Hydroelectric plant
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9Tfeh 37X We ST fohddeh gIRT IS fohar SITaT & —

(A) 19 ferefa & (B) IRHT] & (C) IIRRT | (D) AT I
ife g3k A7 T2 eniq T

(A) Si7iie Teofine (B) iR *Ifes Tesiwe (e

(C) TR 911 oo (e (D) SRy esive (e

ST A WIS (Hef) G UG b GRT RS

(A) AR FTS  (B) AR AT (C) IR T (D) BZSISelared HI—=

Which city of the world has been tagged as ‘zero water’ or ‘waterless city’ in 2018?

(A) Capetown (B) Jodhpur (C) Nirobi (D) Khartoum

ferey o o QTER T A 2018 H ¢ ST’ AT SISIIEIT e Dl FAT S TS 2

(A) T (B) STHg (C) Rt (D) TR

089 I =220 2051 T Ty *1zd B 1oy T 2few ¢

(A) GBI (B) Q7 (C) A (D) g

HAIRDT T TERCATS T 201 8 HT ‘YrISTeT AT STeAIEI e’ el AT gl ?

(A) FUeST (B) STHg (C) Rt (D) B

The target ‘Green House Gas’ emission was an outcome of the international conference at

(A) Stockholm (B) Kyoto (C) Paris (D) Rio-de-Janeiro

177 BT TRT IS STRRISCIT F=IET T TRUTH AT ST U~ 31T AT —

(A) THRT (B) Farer (C) IR« (D) RAN-fS-oF =Y

TRTH 1 ERIC &) (S0 HCHATD 2R ©f 28

(A) IR (B) [Fieo1 (C) =inife™ (D) fFe-fo-cetafas

P BT IR ISP TFCRRTSE T AT YRUT H¥I—~ T forg

(A) TTHET (B) Farer (C) IR« (D) RAN-fS-oF =Y

Noise is measured using sound meter and unit is

(A) Hertz (B) Decibel (C) Joule (D) Watt

&g+ {19 I 1T HICR BB & 3R FHDI $PTS DEARI & —

(A) &cd (B) SRaet (C) Sitet (D) @rc

i 2IfRICoR 9T 2w

(A) Hertz (B) Decibel (C) Joule (D) Watt

&= HTITebT TR T TR fHeX X UebTg &

(A) & (B) Sfydet (C) Strett (D) dre

All forms of water that comes down on Earth, including rain, snow, hail etc. is known as

(A) Calcification (B) Fixation (C) Precipitation (D) Accumulation

e, gt (f2H), 3ot 311 & WU H Yol UR Te+ dTell STel el & —

(A) Calcification (B) Fixation (C) Precipitation (D) Accumulation

3fEsite, gaReIe, RegE Tonft Ft g- “ifoe e wi = =

(A) Calcification (B) Fixation (C) Precipitation (D) Accumulation
11 Turn Over
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(A) Ffeafthddd  (B) fthaaa (C) Uiifuee (D) 3P
Which of the food chain directly depends upon solar radiation?

(A) Predators (B) Grazing (C) Detritus (D) All of these
IE T ST DI T & ST HeIe 09 J AR fAfehRor o= R el & —

(A) Predators (B) Grazing (C) Detritus (D) 5 3 9T
CTaIEa Bl ST FOIE (@I AW-Xew (6 freaaie

(A) Predators (B) Grazing (C) Detritus (D) All of these
P TTeT YT Aret AN Aoy 71 fFR &=

(A) Predators (B) Grazing (C) Detritus (D) HT@REW:I?TE
The ‘Earth Summit’ was held in the year

(A) 1992 (B) 1990 (C) 1989 (D) 2001

“AFerep FRIRGR =TT febe g TP §aT 2

(A) 1992 (B) 1990 (C) 1989 (D) 2001
IHA FACTTAD ZCATRST (BIT A 9

(A) 1992 (B) 1990 (C) 1989 (D) 2001

affer IRGR T (Earth Summit) Hfdel T80T suaT fRrr 2

(A) 1992 (B) 1990 (C) 1989 (D) 2001

The source of energy in Ecosystem is

(A) ATP (B) Sunlight (C) DNA (D) RNA
IR o 5 ST T AT & —

(A) ATP (U. fedh) (B) G &1 Ueprel (C)DNA (SI.TH.T) (D) RNA (3R.GH.T.)
IgoCE *feq T 28

(A) ATP (4.15.f) (B) CTmif& (C) T8.99.4 (D) ®7.99.9
IR RIfCTT =M1 IiTehT Al &

(A) ATP (B) Sunlight (C) DNA (D) RNA

The National Environment Research Institute is located at

(A) Dehradun (B) Jaipur (C) New Delhi (D) Nagpur
RIS GATRUT ST AT R & —

(A) &I (B) SRR (C) ¢ feedt (D) AR

“ferg AR Mo (b (IR SRZS 9

(A) (s (B) &1 (C) fre e (D) =t
M GATaRUT ST AT JHaRerd &

(A) TG (B) SRR (C) Tt ety (D) TR

Smog is a mixture of

(A) Smoke and Fog
(C) Snow and Dust

12

(B) Snow and Fog
(D) Sulphur dioxide and Fog
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(B) f&+ 3R P1exT (ER)

(D) AR T3 3T IR PIERT (PERI)

(B) 37T @R FAM

(D) AR B2 ;ST (SO,) @I FAM
(B) &3 st T

(D) IehRSSIATASS eﬁrgo‘%?r

(C) Petrol (D) Coal

(C) bgret (D) PIgeT
(C) CoCTIeT (D) ¥l

(C) uget (D) PrgeT

(B) Water

e A3 & —

(A) 31T TR PI&RT (P

() fem iR gt

caifeit famcorar foetef ¢

(A) I =R AP

(C) 9T @R gremrell

gar i g5

(A) gt TR Pl

(C) &3 a1 gt

Which of the following is not a fossil fuel?
(A) Diesel (B) Wood

ST T SR §8+ 81 & —

(A) Srofet (B) SISt

facare @A @i GIm gienal = 2

(A) ferse (B) 15

frreAferRee granfe sftares ge elg

(A) feoier (B) @13

Oxygen liberated during photosynthesis comes from
(A) Atmosphere

(C) Carbon dioxide

(D) Break down of chlorophyll

YRIIT GRATUT T UFhAT & FeheTraTet! SIS dal & 1T & —

(A) IS (B) SfeT
AR 2AfFTT Teoly SiHrEc S 2o
(A) e (B) &

(C) P SIRRAZS (D) FeARIftheT bl T

TIPS HATUIEDT HehaTHT STeRATST BHEIdIC I~ &0

(A) IrRgHUSA (B) Sfet

Which of the following disease is caused by air pollution?

(A) Arsenocosis

1 ST & RO e I+1 AT T EIell & —

(A) IIPIRT (B) el R I AR
ARY-WACEIR T (I oG 23 9

(A) ST (B) I5-F5- e
frferare grrefe I a1g IgNUrTe g T

(A) Arsenocosis

(B) Black foot disease (C) Silicosis

(B) Black foot disease (C) Silicosis

Amrita Devi Bishnoi sacrificed her life to the protection of

(A) Sal trees (B) Pine trees

ST T Fa TS = 37U SiterT fdbeqeh |Reur H <o fear —

(A) AT B US (B) SaER & U

13

(C) FRA-TR-=FTT (D) IR vl
(C) P IEARES (D) FARIBA I

(D) Polio
(C) RaferRr (D) mfera
(C) Pt (D) celifere

(D) Polio
(C) Khejri trees (D) Alpine meadows
(C) B b Ug (D) 3T H U

Turn Over
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wpet (i) RezeiE & el oo Saw et FeafReet ¢

(A) *Iie 9l1” GYRIETRI (OYSETIRIE (D) Syier=iigs-fices
3T Y 8ot STToT e aferar et SRafurenT o fret forg

(A) W1 g& (B) gitepr gaf (C) T gar (D) 3T gt
Aerosols consisting of solid particles produced by combustion

(A) Fog (B) Smog (C) Smoke (D) None of these
O TIETRE ¥ G TRINAIET & S8 GRT I<uTfed —

(A) &t (B) PIERT (¥) (C) gatr (D) ST A 1S TE
WA BRI AP (A GAMIAD 2

(A) I (B) ifae (C) it (D) 1 7
RIIeTgh O BHUIERs SETaRT JcdTfad §78

(A) P (B) gat (C) srfire gt (D) P&

A poisonous gas given out of a vehicle exhaust is

(A) Methane (B) Ethane (C) Carbon dioxide (D) Carbon monoxide
Ud STeRTet! I Y aree & fesrt avell & —

(A) = (B) T2 (C) B SIS MRS (D) B AFITAES
AR e g7 e s 2=

(A) fices (B) T (C) FHA-TR-SAEE (D) I NAHLG
73T faNTh =TT S areeTe Ao

(A) fe= (B) 329 (C) PIE-SE-31ES (D) B AF TASS
Which out of the following are the causes of soil erosion?

(A) Unrestricted grazing (B) Deforestation

(C) Over cultivation (D) All of these

G A -4RU B HRU DI A & ?

(A) SFRERTRTE  (B) =g (C) 31 s (D) 375 I et
e @90 e R & il 9

(A) TSN 2IwpiEe  (B) SRerfRe (C) oG Teoimsl (D) 3RS0

=T Pprrafe Y-TaerT (UfeRT) BT DR &

(A) IffErT s TRTSTeT (B) & fa=rer

(C) It @Wicrarfer (D) & g

Red Data Book contains data of

(A) All plant species (B) All animal species

(C) Threatend species (D) Economically important species

‘Red Data Book’ STT ATfHeT Rl & —

(A) ot urey vfer (B) 5t g (simofh) grifer
(O)ECINISEIENIIR] (D) 3TfRies WU A HEcaquf yifer

14
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Red Data Book I 7=I{Fe 2 &« 5

(A) % Bign ewrifo (B) 1T & efwrife
(C) R~ erwife (D) Sltafoss @y 71y ewife
‘Red Data Book’— AT STT AfHAfeTd 87
(A) | IS Forfer (B) |9 a3
(C) Rt sy (D) 3TfRie WUl Hecayul FreTfcr
Which of the following regions has the maximum diversity ?
(A) Mangroves (B) Temparate forests (C) Taiga (D) Coral reefs
ferforRad = & fooT 8t o a1ferenc fafdrear org St & —
(A) TETEER (B) efiarsur o= (C) AT AT AR (D) g
e @ S 7S N &foay 57 41 A 9
(A) i=Care (B) (G==Ia6 kst (C) Conll (D) 2R-a1%17je
[F=TE rranTfe &R TR AT fafderdT arg—o
(A) R (B) eNdrsor o= &y (C) T & (D) R IEHED
Which of the following has the maximum genetic diversity in India ?
(A) Mango (B) Teak (C) Wheat (D) Tea
frrAforRad o & HRa  BI= Y wroTifer & R arferenc srreiferes fafarera ors Sieft & —
(A) 3 (B) i (E1p) (O (D) I
fasfeiiRe @i awifes S Fifie sige Giere tafbay o= St T 9
(A) 3 (B) G (C) (D) ®l
freTfeTRac prrenfeaT arferher STefres fa e wReHT UTg~s
(A) 3™ (B) &7 (©)Tg (D) ferm
Ozone day is observed on
(A) 3" January (B) 16" September  (C) 10™ November (D) 26™ March
SIS ey HATT STl & —
(A) 3 ST (B) 16 fdeR (C) 10 aeR (D) 26 91
‘e T SAifere &7
(A) ORI TR (B) SV 3 GULH= (C) 0 o (D) Y (1 3
3N feae T8
(A) 3 SIHaY (B) 16 Ryawer (C) 10 Fg=R (D) 26 A1
Which of the following is not a potential adverse effect of global warming?
(A) More extreme weather pattern (B) Retreat of glaciers
(C) Heavy rainfall (D) An increase of UV-radiation
ST 3 T Teldel T T HHTIIT Hfeigpel T9Te T8 & —
(A) ST TR I TaHT (B) f&7ic &1 dies geT
(C) ARTaTRer (D) UV-fferur g gfg

15 Turn Over
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e (@D e SRR AR o 2] 77 2

(A) BITSRI7 SR e (B) TRItz 7o
(C) Seyfxs JfBoite (D) UV-3R Srejfass Sesive
fTeTRa gpererfe wetereT ATt FrATfd Hfcigper STl g
(A) RTIRHSI ISR (B) femat ufs I (C) srfcrgfe (D) UV- fafemor sgrer
What is used by plants for photosynthesis?
(A) Oz (B) CO; (O)N; (D) Ar
VTSI TATUT BT UfehaT 7 et GIRT T ST b Srn & —
(A) O, (B) CO;, (O N2 (D) Ar
TEma AR & (0 JIZ0 T 9
(A) Oy (B) CO;, (O N2 (D) Ar
TRTRIRTTIUT TaT I TGt b U T
(A) Oz (B) CO; (O)N; (D) Ar
Radio waves are reflected back to the Earth from which of the following atmospheric level?
(A) Ionosphere (B) Exosphere (C) Thermosphere (D) Stratosphere
T 9 b argFS ety TR UR ST i goeft oR g Hfcrfafae el & —
(A) NSRRI (B) THARHRR (C) eHRARR (D) WeRhRR
AISER @I B @S o35 elferiene 2 77 ©-j @ =i ¢
(A) SRR (B) IR (C) QcshifEarE (D) FeiFwla
ARIHUST I FCREPT G TTBATC ST AT Y HT e SRS
(A) JMMFAHIR (B) TaRARURR (C) eFRhaR (D) FCICR$HIR
Which bacteria are present in leguminous plant ?
(A) Frankia (B) Rhizobium (C) Pantoea (D) Acidovorax
TR GTer H eI T SH1eT] T STl & —
(A) Sfbar (B) Rrgsiifarr (C) Herear NESEIG]
NG Sema e (i P R SRS o7 31 T 9
(A) Ty (B) Sigcenfats (C) 2B (D) SHiFeeRH
(A) B (B) RrgSIfaz (C) &1 (D) TR
Which of the following is a Water borne disease ?
(A) Dengue (B) Covid (C) Typhoid (D) Chicken Pox
ST I AT STefoT =i T & —
(A)ST] (B) Pifers (C) ererES (D) ¥
e @t weaifze @il 9
(A) (&% (B) FifsT (C) Sizzre (D) o »iw
YIIETE &4 T rafe 8l
(A) ST (B) ifers (C) crghigs (D) fore garsr

16
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Tehri dam is situated on the river of

(A) Narmada (B) Ganga (C) Yamuna (D) Bhagirathi
forast S febey e o Ry & —

(A) e (B) T (C) I (D) srfiReft
(SCZA! M4 @I TR T2 SRS 9

(A) 7 (B) el (©) T (D) Stmadl
eI 91T (Dam) 3TaRerd ua! et &

(A) T (B) T (C) agTm (D) *Firell
In which state, Bandipur National Park is located ?

(A) Rajasthan (B) Orissa (C) Assam (D) Karnataka
JIEYR A I o Wo A Reere & —

(A) TSTERAT (B) 3nfs«r (C) 3rF9 (D) FHTeH
T2 SO Sl (Fie ST SIAFE0?

(A) AT (B) ofe=t (C) =P (D) 5w
T ST S YR RIS eI S B+

(A) IRTEAT (B) Sfear (C) 3™ (D) Puriear
Animals living at the bottom of the sea are called

(A) Lotic (B) Lentic (C) Bentic (D) Pelagic
Y el UR Y& aTel HTut heetld & —

(A) Aifee (B) cifcs (C) dfewp (D) femfore
A SR TR AN o1l =

(A) Lotic (B) Lentic (C) Bentic (D) Pelagic
ST clocll TgHT UTg HTfeTs Hive

(A) Afed (B) oifre® (C) sfed (D) YT

Ecotone is characterized by
(A) Forest ecosystem

(C) Terrestrial ecosystem

SDICH INFYATE farar ST & —
(A) g uTRRIfCThT o GRT

(C) Tty Uik & gRT
B G CERITES]

(A) SRR AESE

(C) =T TGS

SPICHATS AT 58

(A) F=T qTRR=AfCrehT TGRT
(C) eftr utRRerfadia—=

17

(B) Transition zone between two ecosystem

(D) Zone of transition between water and land

(B) ar utiRReeIferdhl & & st AemHor & gRT
(D) STeT 3R ¥ & affer HAehHuT & GRT

(B) 7 ArEeE W] S
(D) T 3R BCER SKITS] ST

(B) gEacT UTRRIfehlciTenT g shHur &
(D) STeT AT et TS ehHT &

Turn Over
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Biodegradable pollutant is

(A) Plastic (B) Wood (C) Asbestos (D) All of these
JRANETSTT (STafT=11) Tgyep T & 2

(A) wiRed (B) eTapst (C) 3RRTH (388) (D) FH A I
e fRcfere 73 2=

(A) 2F5% (B) 1o (C) SHPTIRPH (D) 7=
IRANSISHIeT TGy &

(A) wRed (B) &8 (C) Twe (D) T &T

Where are the genes of rare plants species stored?

(A) Gene Bank (B) Gene Library (C) Seed Bank (D) None of these
oT™ UTell &1 ISTTfera (SfiT) el wufed ol Sl € —

(A) Sfi7 de (B) S @mgst (OEIEEC (D) §F4 & I Fe
et erenfos f&aes @ e 1 =

(A) &= 7= (B) e =nig@fx (C) I& = (D) 02 7
(A) BT 8 (B) forT emgsdy (C) e & (D) g afT &1
What is produced by the fusion and fission of the nucleus ?

(A) Hydroelectric (B) Thermal Power  (C) Solar Power (D) Nuclear Power
1fYep & et (Afeaeon) 3R e § T ST 8T g —

(A) 57T fe (B) Ty feega (C) GRS (D) 9=HTY] 2Tfch
SR wREes 9k [ees 9 3 Sesive w1 27

(A) TS (B) wi7farge (C) Feife (D) “eiepfes
ARIHIRT (nucleus) BT [ * foRgueETE & IUTEH T

(A) STt (B) A fager (C) | st (D) TR 21feh
Development but not at the cost of environment is called

(A) Sustainable development (B) Economic development

(C) Non-sustainable development (D) None of these

e OR qafeRuT &t HHT IR & Haelrr s —

(A) Fad faarT (B) 3Tfa foarT (C) 31Rer faarT (D) STH A PIS &1

(A) FEfeRet Tmam (B) e Tamw (C) WRfONS Taww (D) @R T
PR R T faRoT RAFTIT HogmT Bigans wiee

(A) Fad faarer (B) 311feeh faehre (C) 312 forenter (D) P Ul 81T
Which of the following is not a biome ?
(A) Tundra (B) Tropical Rain Forest
(C) Earth (D) Desert
18
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ST A T T A T8 & ?

(A) ST (B) Ssurehfeseliy aui g (C) gt (D) T
e @ A a7 ¢

(A) Q@i (B) a=sr@ety Iiest  (C) 7jfR (D) SREgf
PTaTfe 9119 (BIOME) 81

(A) gt (B) SSUT e guig (C) gt (D) 7o4qfH

Which of the following is not an abiotic condition?

(A) Water (B) Humidity (C) Temperature (D) Bacteria
9 A T 3fifaren Reerfcr 78T 8 —

(A) Sfef (B) TSkt (C) amH (D) Sitamoy

e @0 Site™ S 7 9

(A) & (B) ©igsf (C) Tzl (D) =t
Pt Srifae Ry 8l

(A) Stet (B) 3TTectT (C) ammH (D) Sframy

Which of the following is not a problem directly associated with land?

(A) Water logging (B) Salinization (C) Desertification (D) Climate change
fF=IfeTRad o & a8 B AT THRAT & ST Herer o 3 A 3 T ferT 781 & —

(A) ST R (B) eAquliep=oT (C) FOXUAIPRIT (D) Siefarg giRae
fcare @I iim et 71 I =1 9

(A) STl (B) FReTG e (C) SrEaael (D) SRR eT-7AfRTE
frferRad rrele e AreiT uHT AR wa e 67

(A) T ST (B) SAqUliep=oT (C) TOFUAPRIT (D) Siefarg giRaeiT

Which of the following statement is incorrect about the Biosphere?
(A) Biosphere is a combination of lithosphere, hydrosphere and atmosphere
(B) Biosphere is missing at extreme of north and south pole

(C) Organisms are uniformly present in Biosphere

(D) All of the above

ferforRad & A B AT B JFHUSH & Teld & —

(A) SIS, TATHE, STerHSel 3R aRJHSeT BT T & |

(B) SigHueet ITRT 31IR Sfarlt ga o oRe R SR 8 |

(C) SieHuSer 3 Sfig T ST A HNE & |

(D) ST |

oI ol Rigfo STt s7e»ifeFe g 7

(A) G 251 eTlifeie, 2120l @R e K iel

(B) GRS Tq75e T6d R WiER (IRE0S

(C) et ifen @7 «Fgei@ Boif%e AT

(D) Toitza et

19 Turn Over
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fATTeTRE T e SITHUS IR Tefd 7

(A) STHTSE TATHISH, TTHUSH 3T ARIHTSH GRT AT &
(B) StaHUSeT I 31 SFeUft gt TR ST H SuRed ©

(C) SITHUSTHT SHq8% TehdHT HUHT SURLIT B

(D) Arfrepr & &1
Full form of EIA is
(A) Environmental Impact Assay

(C) Environmental Impact Assessment
EIA &7 qUf U T & —

(A) Environmental Impact Assay

(C) Environmental Impact Assessment
EIA-&3 3~ wfs & 9

(A) Environmental Impact Assay

(C) Environmental Impact Assessment
EIA &7 Q07 &9 & &

(A) Environmental Impact Assay

(C) Environmental Impact Assessment
HIV effected system is

(A) Immune system

(C) Nervous system

HIV TH1fe gt 8 —

(A) Tfcer & (B) SO YoITed!
HIV &9 S&&F SEFe I ?

(A) @9 efotaiged  (B) WRI2A ©F
HIV gRT 941 Jorretl g

(A) UfcRE guret! (B) AR YUTTeAT
Carrier of Plague disease

(A) Cat (B) Mouse

CORT IR T ITED & —

(A) faeeht (B) TgT
(R0 RS =T

(A) o= (B) T

CoRT RITehT HATED &1

(A) forrety (B) 74T

(B) Environmental Interstate Act
(D) Environmental Indepth Analysis

(B) Environmental Interstate Act
(D) Environmental Indepth Analysis

(B) Environmental Interstate Act
(D) Environmental Indepth Analysis

(B) Environmental Interstate Act
(D) Environmental Indepth Analysis

(B) Circulatory system
(D) Digestive system

(C) difaT (D) uTee &

(C) =IgeE (D) »ffseieed

(C) =T oTTedT (D) 9Te Yottt

(C) Mosquito (D) Both (A) & (B)
(C) F=BR (D) A 3R B &FT

(C) = (D) (A) 9% (B) T&32
(C) =B8R (D) (A) &1 (B) g

X



